SHERLINE
PRODUCTS

SHERLINE PRODUCTS INC. - 3235 Executive Ridge - Vista - CA 92081-8527
Tel: 1-760-727-5857 or 1-800-541-0735 - Fax: 1-760-727-7857
Email: sherline@sherline.com

Prices subject to change without notice, Updated 5/5/23

NOTE: Prices in US dollars
Part numbers in BOLD can be used on both lathe and mill.

Part numbers in ITALIC are for use on watchmaker's lathes made

by other manufacturers.

INCORPORATED 1974
° ° °
Lathe Accessories Price List
P/N (met) DESCRIPTION PRICE P/N (met.) DESCRIPTION PRICE P/N (met) DESCRIPTION PRICE
1067 3C Step Collet $175.00 1192 Reverse Live Center 110.24 2253 RH 3/8" Insert Tool Holder w/ 80° 54.60
10670 | 3Cto 3/4-16 Chuck Arbor (use w/ 7332 1201 [ Adjustable Live Center 70.98 Carbide insert
30113 3C Collet Headstock) 1202 Adjustable Tailstock Chuck Arbor 4914 2254 LH 3/8" Insert Tool Holder w/ 80° 54.60
10675 | 3CE-Collet 7748 1203 | Adjustable Tailstock Tool Holder 49.14 Corbide insert
1074 | Steady Rest 43.68 1204 | Adjustable Tailstock 5/32" Chuck w1 225 | Pair of RH and LH 3/8" Insert Tool LR
1090 Follower Rest 76.44 Arbor (Chuck not incl.) Holders w/ 80° Inserts _
1150 WW Lever Collet Closer 322.92 1205 Adjustable Tailstock Bullnose Live Center |  103.74 2256 EH s/: Ilnsen Tool Holder w/ 55 49.14
1152 Lever Collet Closer Riser Block 54.60 1206 Adjustable Tailstock 1" Die Holder w/ 65.52 Tl L:Ir3l8?' InsertT TR AT
T153 | LCC Collet Closer Stop Ki 1368 13/16" Bushing 3y nsen ToolHolder w/ :
1160 (1178) | WW Collet Set {includes P/N 1161) 98.28 1220 | Tailstock Spindle Extender 43.68 -
2258 Pair of RH and LH 3/8"Insert Tool 76.44
116000 | WW Collet Blank, Large Head 12.22 1230 #0 Morse to 3/4-16 Thread Adapter 43.68 Hl:|:i:rs w/(;r;° Inser/t ; nsert Too
1160001 | WW Collet Blank, Small Head 12.22 1270 (1280) | Compound Slide 136.50 7059 [ 80° R Insert /6" Boring Bar [ 3
Custom size collets available. Call for price and ordering information. 1272 | Compound Slide Riser Block 38.22 min. hole) w/Insert
116001 1/64" (.0156") WW Collet 13.68 1286 Rear-Mount Riser Cutoff Holder 65.00 2760 55°RH Insert 3/8" Boring Bar (3/4" 557
116002 | 1/32" (.0313") WW Collet 35.10 1287 Rear-Mount Riser 3/8" Tool Holder 54.60 min. hole) w/lnsert
116003 | 3/64" (.0469") WW Collet 23.14 1288 | Riser Rocker Tool Post 43.68 2261 Pair of Boring Bars (P/N 2259 and 103.74
116004 | WW Collets from size 1/16" to 5/16" | 18.72 ea. 1289 Riser 3/8" Insert Holder Tool Post 43.68 2260) w/lnserts
through | by 64ths. Part number is given as 1290 Steady Rest Riser 54.60 2262 Straight 3/8" Insert Holder, 55° 54.60
116020 1160 pIUS the number of 641h$; for 1291 Spq(er Block Kit w/ Riser Rocker 76.44 Carbide Insert
example, 13/64" would be 116013 Tool Post 2263 55° LH Insert 3/8" Boring Bar (3/4" 65.52
and 1/4" (16/64") would be 116016. 1292 Tailstock Riser Block 54.60 min. hole) w/Insert
1161 WW Collet Adapter, Drawbar & 3/8" 54.60 1294 Riser Plate for 8" Crosslide 57.20 2264 80° LH Insert 3/8" Boring Bar (.5" 65.52
Knockout Bar 1295 Riser Plate for 13" Crosslide 57.20 min. hole) w/Insert
1162 | Deluxe WW Collet Set (Inch) 300.30 1296 [ Coroff Tool Holder Riser Block 5260 2265 | 3/8" Ceramic Insert Tool Holder w/ 65.52
(Drawbar, knockout bar, adapter, 2009 e Fordwhed] 49']4 Insert
. in ndw .
17 collets, pot chucks, blank etc.in P 2266 Replacement Ceramic insert (6-sides) 17.68
wood box) 2081 WW Collet Adapter for 5/8" Gang- 69.42 for 2265 holder
1163 8.0 mm Collet Adapter, Drawbar & 60.06 Tooling Tool Post 2267 3/8" Carbide Threading/Groovi 5746
38" Knockout Bar 2083 | WW Collet v/ 1" Blank 5276 o Hidr. (o Eﬁfe,'t'}g/ s '
1170 Oak WW collet storage box, insert 3276 2085 WW Collet Tailstock Adapter (Use with | 59.80 2268 Carbide 60° Threading Insert for 26.26
with holes for 22 WW collets, drawbar, P/N 1203) 2267 (2 sides)
adapter, knockout bar, pot chucks 2086 8.0 mm Collet Tailstock Adapter (Use 65.52 2269 Carbide .031" Grooving Insert for 26.26
1nmn Oak WW collet storage box, insert with 38.22 with P/N 1203) 2267 (2 sides)
36 holes for WW or 8 mm clles 2090 | 8.0 mm Collet to 3/4-16 Thread 43.68 2270 Carbide .062" Grooving Insert for 26.26
117803 | WW Coller, 03 mm 1368 Adapter 267 (2sides)
117804 | WW Collet, 0.4 mm 43.68 2091 [10.0mm “D” Collet o 3/4-16 Thread |  49.14 2266 | Carbide Tip RH 55° 3/8" Boring Bar 75.40
117805 | WW Collets from size 0.5 mm through | 43.68 ea. Adapter w/2 Flats
through | 0.8 mm by 0.1 mm increments. Part 2092 | 8.0 mm Collet fo 3/8-24 Thread 43,48 2268 | Carbide Tip RH 80° 3/" Boring Bar 7540
117808 | number is 11780 plus the collet size in Adapter w/2 Flats
g" P"/‘,T] {%82“’""'3' 0.6 mm would 2093 | 10.0 mm Collet o 3/8-24 Thread 49.14 2273 | Carbide Tip LH 55° 3/8" Boring Bar 7540
TR VT Collets o522 09 oo | 570 oper W2 Pl
ollets from size 0.7 mm fhrough |- 3,.10 ea. 2094 | Clockmaker's Gear Cuffing Arbor, 65,52 7276 | Carbide Tip LH 80° 3/8" Boring Bar 75.40
through | 1.4 mm by 0.1 mm increments. Part 7.0mm to Morse #1 /2 Flat:
117814 | number is 1178 plus the collet size in 2095 Ci kmaker’s Gear Coima &b 55 wiZ T
0.1 mm; for example, 1.1 mm would otkmaker s Gear }Im'"g rbor, . 2275 Bump Knurl Tool Holder 93.08
be P/N 117811 7.0mm fo 10 mm *D (9llet 2280 1/4" Quick -change Tool Holder 6552
117815 | WW Collets from size 1.5 mm through | 18.72 ea. 209 Clockmaker's Gear Cutting Arbor, 65.52 (Included w/ 2250)
through | 8.0 mm by 0.1 mm increments. Part 7.0mm to 8 mm WW Collet 2282 3/8" Quick-change Tool Holder 70.98
117880 | number is 1178 plus the collet size in 2097 WW 3/8-24 Collet-to-Thread Chuck 43.68 (Optional for 2250)
0.1 mm; for example, 6.4 mm would Adapter 2285 3/8" Quick-change Boring Tool Hidr. 65.52
be P/N 117864 2099 | W12 Collet to 3/4-16 Thread Adapter | 59.58 (Included w/ 2250)
179 Deluxe WW Collet Set (Metric) 267.54 2100 | 3/4" Collet Pot Chuck 27.30 2290 Quick-change Cutoff Tool Holder 87.36
(Drawbar, knockout bar, adapter, 2101 T" Collet Pof Chuck 2064 (Included w/ 2250)
14 collets, pot chucks, blank etc. in - 2295 Quick-change Carbide Insert Holder 98.28
wood box) 2102 1-1/4" Collet Pot Chuck 32.76 w/ Insert for 2250
1180 Complete Metric WW Collet Set with | 1,021.02 2103 10 mm 3/4" Collet Pot Chuck 38.22 30100 | #1MT, 3/4°x16 Spindle Headstock M54
78 Collets from 0.3mm to 8.0 mm 2104 10 mm 1" Collet Pot Chuck 43.68 -
. . Nickel-plated, #1MT, 3/4"x16 thread 163.54
glﬁu;ulblunk collet in oak box with 2105 10 mm 1-1/4" Collet Pot Chuck 49.14 soan S;I)cin?ilepl'lllezdstock J4¥16 threo
-hole insert f
2106 8 mm Collet-to-Live Center 81.90 G -
- 30103 #1MT, 3/4"x16 Spindle Headstock 191.54
1182 BU”I“°5°- Live Center 87.36 7107 | 10 mm Collet-fo-Live Center 81.90 (5 Bearings
1182PC P°°. C‘I’e Llllve Cembelr r 91.52 2110 [ W.R. Smith Waichmaker's T-Rest 218.40 30104 | 3C Collet Spindle Headstock, C5 454.40
1785 (1184) Verltlltu Milling Ta €, Inc L 131.04 2200 Radius Cutting Attachment 131.04 Bearings
11850 | 3/8" Chuck Arbor with 3/8" Shank 15.60 2250 Quick-change Tool Post w/ 3 Tool 283.92 30105 | ER-16 Spindle Headstock, (5 Bearings |  286.18
1187 Chuck-to-T-Slot Adapter 8.32 Holders
1191 Live Center 43.68 2251 Quick-change Tool Post Riser 54.60




P/N (met) DESCRIPTION PRICE P/N (met.) DESCRIPTION PRICE P/N (met) DESCRIPTION PRICE
30106 Z/l 6" Thru-hole Spindle Headstock, 265.64 3315 3C (glletkS/pilgdle, 5(/2(ceurirl1)gs, 729.48 6760 (6765) | CNC Uplgrude Kit, All lathes, Crosslide 81.90
5 Bearings Headstock/DC motor/SC Ashy axis only
30107 9/16" Thru-hole Spindle Headstock, 492.62 3400 (3410) | Oversize 2.5" Handwheel 16.38 6780 (6785) | CNC Upgrade Kit, 4000/4500 Lathes, 141.96
(5 Bearings, DC motor/SC Ashy 3420 (3430) | 2" Zero Adj. Hlandwh (Crossslide) 3822 leadscrew axis only
30109 Nickel-plated #1MT, 3/4"x16 thread 243.54 - - 6790 (6795) | CNC Upgrade Kit, 4400 Lathe, 152.88
Spindle Headstock, C5 Bearings 3428 (3429) | 2' Zero Adj. Handwh (Leadscrew) 8.2 leadscrew axis only
30110 9/16" Thru-hole Spindle Headstock 185.64 3440 (3450) | 2.5" Zero Adj. Handwhl (Crosslide) 43.68 7550 Super-Lube multi-purpose grease 9.36
30111 | ER-16 Spindle Headstock 206.18 3455 (3459) [ 2.5" Zero Adj. Handwh (Leadscrew) 43.68 ==z ;’"h PTLFEb' 3D°Z.‘F'.‘;be| —— T
30113 | 3C Collet Spindle Headstock 374.40 3460 (3465) | 2.5" Zero Adj. Handwhl (w/Thrust and 54.60 Pl#l)::r-l ]u ; urtla,-rols:; bricant wi ’
Bearing Set for “Z" Axis on vertical d .
3002 | Cut-off Tool Holder & Tool 34.60 milling column) 7560 | NIKX-STIKX Metal Cutting Compound, |~ 5.46
3003 { 2-Position Tool Post (1/4"1/4 17.68 | 73480 (3485) [ Deluxe Lathe Vertical Milling Column | 185.64 2.2 oz stck
3004 Knurling Tool Holder w/ 1 set of knurls 81.90 for lathe w/ Zero Adj. Handwhls 7600 3/8" Insert Holder Tool Post 2184
3005 1/4" Sq. High Spe.ed Steejl Tool Blank 3.38 3480-CNC_ | Deluxe Lathe Verfical Milling Column, | 273.00 7603 2-position tool post, 1/4-3/8" 43.68
3006 1/4" Sq. Brazed-tip Carbide Tool Set 21.84 (3053-CNC) | CNC-Ready 7604 3/8" Rear-Mount Tool Holder 21.84
(LH, RH, threading) 3580 (3585) [ Multi-direction Lathe Vertical Milling | 409.50 8200 (8260) | 2-Axis Digital Readout, 120V-240V AC | 354.90
3007 1/4" Sq. HSS Tool Set (LH, RH, boring) 27.30 Column w/ Zero Ad| Handwhl (Luthe) w/ RPM Guuge
3008 2-Position Tool Post (3/8"-5/16") 27.30 3580-DRO | Multi-direction Lathe Vertical Milling 443.56 8210 (8215) | 3-Axis Digital Readout, 120V-240V AC |  420.42
3009 Lathe Tool Height Gauge 21.84 (3585-DRO) | Column, DRO (Lathe w/ vertical milling column) w/
3015 | Toggle Switch Dust Cover 9.36 3580-CNC | Multi-direction Lathe Vertical Milling | 469.56 RPM'Guuge _ .
076 Cut-off Tool rear Mounfing Block 1638 (3585-CNC) | Column, CNC-Ready ' 8220 (8225) ?euA;::ult-f:: ([I):Lg:tt(;‘lolsi:(;:i;;tu r:g(l:s;n 180.18
077 Crosslide Accessory Plate 5252 40116 Lu?he Headstock Hard Stop Kit 10.92 havo o il DRO)
3018 | Rear Mount Cut-off Tool and Holder | 5460 4058 _ | Spindle Dravbar Rubber End Caps (2| 2.3 8240 (8245) | Z-Ais Verfical Milling Column Digital | 78.78
3020 Sherline 5/32" Hex “T" Driver 6.76 4059 Spindle Bar Sef with Grips 3.38 Readout Handwheel Package
3021 Center Drill Set 17.68 40950 CNC Lathe Crosslide Anti-Backlash 27.30 87140 | 36V Closed-Loop Stepper Motor (Soldas |  154.95
Moli-tool Wrendh (Ad m n 7730 (4095]) Upgrade a replacement part forA(cu-Prq lvu(hines fmd not
3022 ShuerIIEnOeOToorlf)n 0 Adjust iex nuls on ’ 41127 | Morse #1 Taper Tailstock for Pen 106.08 e ”"gr"'fe option for pre-exsting machines )
T Ol ST o (4112M) | Makers w/Standard Handwhee! 8760 | CNC4-axis Driver Box with cables, 655.20
B 3L i i ”e a d 519.48 44127 Morse #1 Taper Tailstock for Pen 132.34 po\ger sunplly, Ii)'I"U:CNc soﬂw.ure
0 . ege.r ollet Closer 27‘30 (4412M) | Makers w/Adjustable Handwheel ::m'f;':r el cable for connedtion fo
fur Tiver : 4150 | Lathe Vinyl Dust Cover (for Model 4000 | 13.26 -
3038 | Wood Tool Rest Sef (3" and 5" support) | 60.06 lathes, wh’he supplies h,(S,) 8765 Upfgrlcluée;q gnv Sherline (NC-ready lathe |~ 797.16
3047 | Extended Wood Tool Rest Set (F 65.52 - forull LN using your own compufer.
w)i(tﬁnp /eN ]23(])) ool Rest Set (For use 4151 :;](;Lhees Vv','m:ensf; pCI(i):selru(sfsr Model 4400 | 15.34 Indudes 2 stepper motors, 8760 4-axis
3050 (3053 | Lathe Verfical Nilling Colormn 16380 7355 TT0000 RPW pulley st Reploces TET 3Bveéfﬁﬁr"edstL":Jﬁ'f«(o‘f’?anfLﬁeﬂ")
3050-DRO | Lathe Vertical Milling Column, DRO 197.86 standard pulley set) — -
8800 (8810) [ CNC Linear Controller w/ Stepper 491.40
(3053-DRO) 44177 | CNC Lathe Leadscrew Backlash 3822 Motor (Use with Sherline CNC-ready
3050-CNC | Lathe Vertical Milling Column, 256.62 (44]7ZM) Adjustment Upgrade lathes or mills, any ﬂXiS)
(3033;;]’“) ;tl;-nlzeudysl . I 4360 Chip Guard 16.38 8850 (8851) | CNC Power Feed, Lathe crosslide, 546.00
orse Blan - 5330 | Safely Glasses .32 includes controller, stepper motor and
3055 #1 Morse Blank 17.68 T - mount (Also fits Mill X- or Y-Axis)
5335 Sherline Lathe Basics—How to Set Up | 54.60
3056 T-Nuts, 10-32 (Set of 10) 8.84 and Operate the Sherline Lathe” by 8870 (8771) gggol.lut:;]e L.eu;is(cirewI P(:lwer Feed, 567.84
Mike Rehmus (DVD Video, 3.6 h athe, includes leadscrew,
33% s?kifﬁ;':‘f'] 5716 12014 Stee] 2%8 5680 (3685) U‘l)gemdee_n;l:];é or 34tlaoefmhe v;)niml 789.38 controller, stopper motor and mount
Blank (Unfinished chuck body w/ Milling Column to 8-direction capacity 8880 (888]) I(I:A'I‘lg(]l-lmtl;]e L,eufsarewl P(:iwer Feed, 57876
3/4-16 thread) 5930 [ 3/8" Gang-Tooling Tool Post 78.00 gifie, Includes ‘eacscrey,
- - - - - - controller, stepper motor and mount
3082 fﬁ E}Te(mldsl)::ghalg:lr( fwre 31 76 i a/fldgreur Side Ctof Muli-Too 78.00 8900 54,000 RPM air grinder/engraver with |  267.54
0 - : - - - mill headstock
3088 ‘]16 E}'.]femdsm:ghﬂ::ﬂ foure, 4 n :Zgg gjg,. (F;rom ?deI.MuI]tj -Tlogl I-:older g;gg 8976 Grinder Tool Post for use with P/N 38.22
ang-1ooling 1001 F'os : 8900 air grinder
3100 | Thread Cutting Attachment 136.50 5936 | 5/8" Rear Side Cutoff Muli-Tool Holder | 88.40 — .
- : 8987 Riser Grinder Tool Post for use with 43.68
33050 DC Motor and S.peed Control Units 251.16 5937 5/8" Front Side Multi-Tool Holder 78.00 P/N 8900 air grinder
(headstock not induded) 5938 | 3/8" Drill Chudk with Sraight Shafi | 7072 575 TVerreal Shoer B T
3306 | #1MT, 3/4'x16 thread Spindle 385.32 Arbor (for 3/8" multi-tool holder posts) KITS
Headstock/DC motor/SC Asby 5939 | 1/4" Drill Chodk with Siraight Shaf 59,80 —
3306-C5 | #1MT, 3/4"x16 thrf:ud Spindle 46532 Arbor (for 3/8" muli-tool holder posts) T1000 Turner’s Cube K!t (w!thout chuclf) 85.28
Eg(z\dsﬂ;)ck, 5C Bearings, DC motor/ 0] 3/8" Rear Side Mulfi-Tool Holder 7072 T1076 'sr:lz(n;rn ie(;lij::clfllltjc(lr;“h 1076 4-jaw 265.46
307 70,000 RPH HeadsTodd/BC mofor 7768 5942 5/8" Rear Side Multi-Tool Holder 81.12
SC Ashy 65027 EE(;L;E‘C’II(IS‘N”' Spanner Set (For ER-16 | - 90.00 For other accessories, see the following price lists:
3307-C5 | Nickel-plated #1MT, 3/4"x16 thread | 517.32 e 7 Totor 19T o2 0T - Chucks and Collets
Spindle Headstock, 5C Bearings, DC 67126 | Mii-Torque Stepper Wotor, 11 oz/in, : * Mill Accessories (Includes videos and books)
mofor/SC Asby 25 ump,INEMA ﬁ frome,‘t:]ugll] sl;aﬁ - Cutting Tools
3308 | ER-16 Spindle Headstock/DC mofor/ | 498.68 (uig'fyge'gs‘)'"re or use wih Sherlne - Replacement Parts
SC Ashy - 67127 Stepper Motor, 136 0z/in, 2amp, NEMA 81.90 . . Lo
3308-C5 | ER-16 Spindle Headstock, 5C 578.68 23 frame, dual shaft (5-pin plug wired CLICK HERE for links to all current Sherline price lists.
Bearings, DC motor/SC Ashy : )
= L for use with Sherline CNC systems)
3309 19)/26 Thrus-gt?AlebSpmdle Headstock/ 412.62 7130 Stepper Mofor, 136 oz/in, 2 amp, 70.98
motor/SC Ashy NEMA 23 frame, dual shaft (with six
3310 | 3CCollet Spindle Headstock/DC 649.48 raw wire leads for general use)
motor/SC Ashy _ 6720 (6725) | CNC Upgrade Kit, 400074500 Lathes | 218.40
3311 | Nickel-plated, #1MT, 3/4'x16 thread | 43732 | =73y (5738) [ CNC Upgrade Ki, 4400 Lathe 3

Spindle Headstock/DC motor/SC Ashy



https://www.sherline.com/sherline-price-lists/

